Best model for HELP_J161622.721+534946.270 atz = 1.781 )(2=4.56
OPTx?=6.16 IRx?=1.29 threshold (OPT IR)=22.25 [um]

Flux [m])y]

2 : Stellar attenuated
10 E S Stellar unattenuated
q . —— Dust emission
1 m —— AGN emission
101 3 = Model spectrum
] ® Model fluxes
] M oObserved fluxes
100 -
10_1 _E e f*-‘"'“"“_ﬂ
f"'k"“"‘"h’*""J - -~ v
10—2 .
10—3 .
1
x
>
—
= ==f=(Obs-Mod)/Obs
>
S
n
0 O+A—dfpf————Frmme ===t =} A~ - ==
o ]
) ]
2 ]
5 ]
© -1+ T T ChEALE
()
(o'

10° 10! 102 103 10% 10° A
Observed wavelength [um]



